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for the questions
1. oo frn Respigeg o i G@ac! A Sfea
1x5=5

Select the correct answer from the following

alternatives :
(@) &G eIy 3% N, o R N0 WI 95%
Resrrer M et (2R (O w[S)

The formula for obtaining  95%

confidence limit for the mean K of a
normal distribution N0 2) with known

0 are

B =ls96e E -t 2196
o/wfrI
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(2)

c
i) X+1-96 -2
@ x =

%- y
(i) p(-zm,2 Six/£52a/z]=0-95 o

(iv) S°RT wiiRTeRn

All of the above
(b) e omvw H) w1 wca, Rees 1, fam

of rejecting the null
» When the alternative
false, is called

(i) S o
type II error
(iii) ’I?rwa.m
power of the test
() e wibiagaig;
All of the above
(¢ 9\ 3x4q Eroao]
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(3)

(d) g BF A WFe I AT
Ordinary sign test utilises
(i) F= I%
Poisson distribution
(ii) fasm 3%
binomial distribution
(iii) (i) S (ii) GCAHT
Both (i) and (i)
(iv) (i) % (i) G018 TH
Neither (i) nor (i)
(€) (PR o1 + R eI oY {-
Replication in an experiment means
(i) D9 Ai2m
number of blocks
(i) o Soforeg T
total number of treatments
(iii) *FS i @B TR @FER G
" '

the number of times a treatment
occurs in an experiment

(iv) 8°[T GBS T
None of the above
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2. o faPRRs o e fo

Answer the following in brief :

(4)

fa) MY B gl e o

()

(c)

(@

(e)

3. (q)
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Define level of significance,

R AR Meorw absr g oeFe 9
Under what circumstances,
correction must be applied?

%WWWWWWW
FRA?

Yate’s

How to resolve the problem of zero
differences in sign test?

aﬂaﬁﬁm«wwﬁmﬂmﬁm

State the basic assump
of variance,

o 4 <R Sgera SRR &R R o
What are the
randomised block d

tions in analysis

disadvantages of
esign?

Obtain the confidence

mean of g normaj po
case of one-

interva] for

Pulation in
Sample probler,

( Continyed |
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(5)

(i) D t-*RAwR AR & &2 10
PR <B1 AR Afor T Mg 97-2 IS
TGE o[ @ @R PR @
1833-60. @3 #fomfB1 100 NGLS 9B
TR [T TR (R R ?

(e SR tg.05,0 =2-262]  2+4=6
What are the assumptions of
student’s t-test?

A random sample of size 10 has
mean 97-2. The sum of squares of
deviation from mean is 1833-60.
Can this sample be regarded as
taken from the population having
mean 100?

[Given tg.95,9 =2-262]

vyz<qr / Or

) () R wr Rew awsm e fonl o
vl 7Ry #fH B B AWIAL 2+43=5
Define null and  alternative

hypotheses. What are the two types
of error in testing of hypotheses?

Explain it.

(i) p-I NN @] RelT T8 [ F90
100 & goq 9B TRe APl oS
T B 162:6 = B | G AfOPER
TG 167-6 ¢z @, W AWAT [oow 12
® R 1o b1 2 TR [ G
' @17 5% MYFel TS X AP
R 391 | . 2+4=6
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(6)

Explain  the procedure for
estimating p-valye,

The mean height of 100 students of
a random Sample is 1626 cm.

and s.d. 12 cm?

Test at 5% leve] of significance,

9
e o (ﬁmesz’fm Rl Cll< o)

Define categorica] ¢ ta wij
It is found that 35 of 250 housewives in
Delhi, 22 of 220 housewives in Mumbai
and 39 of 3q housewiyes in
Chandigarh Watch 44 least ope talk
show everyday, At the 0.5 level of
significance, test that there is po
difference between the trye Proportions
of housewives whg Watch t. shows in
these cities. [Given X305 o= 5.991]
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(7)

23/ Or

(b) EFETT ol AIHS %2 FNF IR A
T 1 1 1 2~ IR FCICS & @

AYTOIRR 2

5+2=7

Describe how %2 can be used as a

goodness of fit test. What precautions
would you take in applying this test?

5. (a) I AP A FoF *R_re @@ IRIA AR

ESIN

<o G afeer 10 s[St afSifae
2 & RvRee wore Moy &SP o

Refra sfez -
23 [ e R
2 3
4 5
7 6
8 7
3 2
1 1
5 4
9 8
10 9
6 10

AfFel B 5% ¢ AW T A TEAEA
RoRT T TR W o eeee 2 (fean
SR Rp.05,10 =0 5515)
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(8)

Explain how sign test is

used for large
sample.

Two judges have ranked the ten

competitors those whe attend a beauty
competition as’ follows .

e

Jutlge 1 Judge I |
2 3 }
: %ksx
8 ]
3 2
1 1
— S T
— 2 |
— 0 [ :
— & T |
Test whether T

the Tank  correlation
between the two Judgeg is Significant or
" not at 5% Jeye] of sign;

Shificance, (Given
Ro.05,10 =0-5515)
b) ﬁﬁ%%sﬁr@ *Rirg

S . 2+5=T
In wﬁha& situatiqn You woylg recommend
sign test for g etry? Explic te
Wilcoxon two-sample test Xplica ,
22P/1312 '
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(9)

6. g R e o Te fax 5x2=10

Answer any two from the following :

(@ o Rema Rere @l om&fes il
i o | : 1+4=5
Write down the mathematical model
used in analysis of variance in two-way
classification. '

CoR SRR Ao 4

Complete the following table :

PAREST | qog wway |7y | AT | F
Source of. . df. Sum of AT
vanation squares | Mean sum
of squares
%9
Block 5 901-19 - —
o e s R
| Treatment | 3 _ 7314 —
| = ——
[Erer | - _ 15:31
» — |
j L — — 135025
x‘ I

R L

| K TR R SRR SR T I S

g‘:lflam briefly the basic principles of
VI8 of €Xperiments.
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(10)

() ® +Rf¥fes CRD & RBD °F% 312
RBDT IR &l 001 T4 | 2+3=5
Under what situation you will brefer

RBD over CRD? Explain the methods of
randomization in RBD.

* %k
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